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URNIT 12 PRACTICE Name

You may use CALCULATORS and your GEOMETRY FORMULA CHART!
The surface areas of two similar cones are 121 £1° and 36 #1°,
a, What is the ratio of the loteral areas?
b, What is the similarity ratio of the large cone to the small cone?

¢. What is the ratio of their radii?

4. What is the ratio of thelr volumes?

For the following nets, name the figure that would be formed and find its surface area.
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%. A paralielogram has sides of 4 cm and 8 cm. After being dilated, the resufting image has an area of 8
cm?. What scale factor was applied to the sides of the original parallelogram?
A

B
C
D
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& Leo is painting the walls of his bedroom. His bedroom measures 10 feet by 14 feet and is 8 feet tall. He
will not paint the 6 foot by 2 foot door or his 3 foot by 4 foot window. How many sgquare feet will Leo
paint?

A 360t
B 384 f°
C 408 fi2
D 1,096 ft2

%. A spherical bafloon holds approximately 3,053.63 cm? of air when it is full. What is the radius of the
balloon when it is full?
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{s. The height of a cylinder is 18 inches. The area of the base of the cylinder is 20 inches. Which of the
following expressions could be used to find the volume of the cylinder?
A 20/18
B 18/20
C 18x20
D w(20)%(18)

“?. The base area of a cylindrical can is 75 cm?. The volume of the can is 1,125 em?®. What is the height of
the can?
A B4om
B 105cm
C 1Z2em
D 15¢m



Name: Period: Bernhard GT GEOMETRY — SURFACE AREA AND VOLUME

ﬁ Which figure accurately represents the triangular prism described below?

3 units high, with bases that are right triangles with legs 3 units and 5 units long
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? A sphere has a volume of 12007 cm’. Find the surface area of the sphere.
fo a). Determine whether the pair of solids are:
Similar Congruent Neither

b). Show all your work to justify your answer,
(Figures are not necessarily drawn to scale)

fﬁ Two similar octagonal prisms have volumes of 64 cm?® and 216 cm®. The smaller prism has a surface
area of 90 cm?., What is the surface area of the larger prism?



g &cylindricat water tank is shown below. What is the approximate volume of the water in cubic feet?

4§

A 2356218
B 54578 f°
C 94248 ft*
B 2,190.11 ft°
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The height is 11m and the

apothem is 6m.



i %&’* & snow cone has a paper cone that is 8 cm deep and has a diameter of 5 om.

The flavored ice comes in 3 spherical scoop with a diameter of 2 cm.
aj If all the jce melts into the cone, will the cone overflow?

Yes Mo

b} Show ALL work to justify your answer,

c} Explain why the melted ice does or does not overfiow

fg' Which figure to the right would be formed by the net shown?




